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Q.4. Point out three characteristics of the different types of governments as given below:

Types of Government
L v
 J ¥ v v
Democracy Monarchy Constitutional Dictatorship
Monarchy

E

e

TEST PAPER

Q.1. Identify the clues given below, find the correct word and encircle it in the given wordsearch:

(a) Other name of the slaves. (f) He defeated Ibrahim Lodhi in Panipat

(b) Land controlled by military commanders. (g) Mongol invader.

(c) Son-in-law of Qutub-ud-din-Aibak. (h) He introduced copper and silver co
(d) First women ruler of medieval India. (i) Pargana was headed by this official
(e) Traveller in the court of Muhammad-bin-Tughlag. (j) Land owners in Delhi Sultanate.
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¥ Choote the Cexrect options -

1. The Delhi Sultanate was established by

(a) Tughlags | | (b) Turks

| | (d) Khaljis

(c) Lodhis
The first Europeans to arrive as traders in India during medieval period were the

(a) British |[ | (b) French

(d) Portuguese

(¢) Dutch \
for areas of Punjab, Haryana and the land betweer

Minhaj-us-Siraj used the term
Ganga and Yamuna

S

"‘ (b) Aryavarta

(a) Bharata
f’l (d) Sindhu
- |

(¢) Hindustan
4. Akbarnama and Ain-i-Akbari were written by:

(a) Humayun U (b) Ziauddin Barni

(c) Kalhana [ | (d) AbulFazal
Tripartite struggle was the struggle for the control of Kanauj among the three dynasties

namely:

(a) Hunas, Scythians and Aryans D

(c) Guijjars, Chauhans and Chalukyas D
6. Urwas the name given to the assembly of

(a) merchants D (b) craftsmen
(¢) non-brahman landowners D (d) peasants.

(b) Palas, Pratiharas and Rashtrakutas

(d) Gujjars, Prathiharas and Palas

during the Pallava rule.

Q.2. Fill in the blanks:
1. All the water bodies together form the

The ——__ . contains all forms of life.
| m— 15 the gaseous layer that surrounds the ear‘w.
s found in solid, liquid and gases forms.

World Water Day is celebrated on

Hard outermost solid layer of earth made up of rock material is called

—

. Atmosphere is held around the earth by its

Study of relations

hips between living organism and their surroundings is called emm"""

z
<
4
5
6.
7
g
9

Living world where Jand, water and air interact with each other to supportlifeis

10. Oikos is the Greek word meaning




wif two lines intersect at a point then the vertically opposite angles are always
(b) unequal
() Supplementary (d) Complementary
g the reign of Harsha Vardhana.

Name the chinese pilgrim who visited India durin
(b) Megasthenes

(d) Marco Pola
the ship Exxon Valdez spill a huge amount of oil, causin

(a) equal

(a) Fa-hsien

(c) Huien Tsang

4 In which ocean did
death of numerous marine animals?
(a) Artic Ocean

(c) Pacific Ocean

_ Which of these is the state animal of Sikkim?
(b) Bear

(d) Red Panda

g the

(b) Atlantic Ocean
(d) Southern Ocean

(a) Reindeer

(c) Yak
. Which chinese pilgrim visited India during the reign of Chandrayupta II
(a) Fa-hsien (b) Marco Polo

(c) Huien Tsang (d) Al-Biruni

. Who is known as ‘the father of Genetics'?
(b) George Mendel

(a) Louis Pasteur
(c) John Dalton (d) Nicolaus Copernicus

_ Which term is used for Rearing of Aquatic organisms?

(a) Aquaculture (b) Aviculture
(c) Aeroculture (d) Horticulture
" Which of the these is a utility software?

(a) Window XP (b) MS Word
(c) Norton Antivirous (d) Q Basic
ROM stores data
(a) permanently (b) temporarily
(c) partially (d) fully
is the set of instructions given to the computer to perform a specific task.
(a) Monitor (b) Hardware
(d) Printer

(c) Software
creates a link between a user and computer.

(b) Utilities
(d) Image viewer

(a) Device driver
(c) Operating system
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1‘ Name the instrument that measures electric current.
(a) electrical cell (b) electrical lamp
Q) ammeter (d) electrical switch
&' The value of (40° - 509 x 6?is
(@) 36 (b) =36 (c) 0 (d) 1
* If the angles of a triangle are in the ratio 1 : 2 : 3, then the triangle is —
(@) acute angled (b) obtuse angled
(€) right angled (d) right angled isosceles
L’ . Two railway tracks are parallel to each other. A third track intersects both the track
at O and P as shown in the figure.

7 ;
B « /P x > Y

Find the value of the angle (??) shown in the figure.
(@) 116° (b) 26° (c) 56° (d) 66°
& - The mean of single digit whole numbers is
(@ 4 (b) 5 (c) 45 (d) 55
6 - Mohit bought a CD player for ¥ 750 and sold at ¥ 900. Find his gain percentage.
(a) 15% (b) 16% () 19% (d) 20%
| 6. 3 taken away from 0 gives ;
,‘ (@) 3 (b) -3 © 0 (d) not possible |
7. One of the angles of a triangle is 100°. Two other angles of the triangle are equal. _
What |s the measurement of equal angle?

(a) 45° (b) 40° () 60° (d) 55° _
8. If there are 14400 people born in a day then how many people were born every |
hour?
(a) 240 (b) 120 (c) 600 (d) 400
9. Perimeter of a square park is 520 m. The area of the park is
(a) 19600 m? (b) 169 m? (€) 196 m? (d) 16900 m?

1.




Viethe possessive. nound ih Semtences of. Yo own,
' The thieves’ plan

i

b The birds’ feathers

The elephant’s tusks

The Principal’s office

Sharukh Khan's next movie

» Theinternet’s connectivity

L Addsuitable quedtion tags to the ﬂllnwmj Sentenced .

‘M=coier people live longer,
ME€mouse was caughtin the trap,
: MAnuseemstobeacrazywoman

?

This Diwali, there was much less pollution
3 The moneylender slipped on the banana peel

¢4

) Pickk ouk the nouns oy Psmound tn the objechve Cage.
He hit Mukul.

g S~e saw him park his car.
s T-=booklay under the table.
8 N==ra waited for himin the corridor.

} Tre crane was called to lift the monkey out of the well.

State {0 adjechves each fhom the d

ced of ombaritan
‘and yle them i Serden ced of Youn > oﬁ.

own.

Odyectived fnom the given nound Uling Suitable Suéfixey

courage

skin

ease
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\n the bla

(enjoy/enjoys

A. Fill in +he blgnKS USing the Cerrect Prom of theverbs diven

1. Reshma khoya burfi,

2. Thehyenasoften in groups. (hunt/huné

3. Everyone going to question me. (is/ar8

4. There the list of invitees | was looking for. (is/

S. Hesawtwoeyes at him from behind the bush. (stare/stares

6. Nitinand Riya attended the same school as me. (has/

7. Thechildren around whenever their mother is away. (jump/jume

8. Thickclouds of dust asthe camels through the desert.
(rise,race/rises,rac

B. Add Svitable puediCates +o the ilowing Sentences -
1. Iwishihad...
2. Weallneed...

3. The nextvacations...

4. Examinationtimeis...

5. Thisweekend | might...

6. Thewolvesofthewild...

7. Iflwereakingforaday...

t 8. Inthemiddle oftheroad...

9. Therewere three kittens. ..

10. My parentsare really proud of the. ..
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